Mon. Sept 14, 2014 ' MATH 340, Quiz 2 Prof. V. Panferov

Name: (print) SM M

Each problem is worth 2 points. Sho.vv‘"aﬂ your work.

1. (a) In an experiment, die is rolled repeatedly until a 6 appears, at which point the experiment
stops. Describe the sample space of this experiment.

(b) Let F,, denote the event that n rolls are necessary to complete the experiment. What points
of the sample space are in E,? What is (Uﬁf_l E ) ?
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2. A pair of fair dice is rolled. Fmd the probablhty that the second die lands on a higher value
than does the first.
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3. If it is assumed that all (52) C

% are equally likely, what is the probablilty of being dealt o
pair? (This occurs when the cards have denominations a, a b, ¢, d where a, b, c and d are
distinct.) )
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4. Prove the following relations: F = FEUFE®and EUF = EU E°F
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(Since EE~E awn-t EFCE)
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